

CITY OF LA VISTA
MAYOR AND CITY COUNCIL REPORT
MARCH 19, 2013 AGENDA

Subject:	Type:	Submitted By:
PURCHASE DEEP TINE AERATOR	◆ RESOLUTION ORDINANCE RECEIVE/FILE	JOE SOUCIE PUBLIC WORKS DIRECTOR

SYNOPSIS

A resolution has been prepared authorizing the purchase of one (1) Deep Tine Aerator, New Terra Spike XP 6 from Commercial Turf & Tractor for an amount not to exceed \$26,000.00.

FISCAL IMPACT

The FY 12/13 General Fund and Golf Fund budgets provide funding for the proposed purchase.

RECOMMENDATION

Approval

BACKGROUND

The Public Works Department acquired three bids for the proposed purchase which met all the requirements.

Commercial Turf & Tractor	New Terra Spike XP 6	\$26,000.00
TurfWerks	Verti Drain 7516	\$27,904.43
Midwest Turf and Irrigation	Toro ProCore SR 72	\$25,293.00

Public Works and Golf Course staffs are recommending Commercial Turf & Tractor as the low compliant bidder. The low bid unit submitted by Midwest Turf and Irrigation did not have seven (7) items which were standard on the other two units. This included: anti-vibration dampener, quickset tine changing, power pack vibration dampener, 3-speed gear box, all enclosed gear box (safety feature), dual rollers, and no tools required for depth and angle changes to the tines. Commercial Turf & Tractor also included a 15% discount on all future tine purchases. The unit has a 12-month warranty.

RESOLUTION NO. _____

A RESOLUTION OF THE MAYOR AND CITY COUNCIL OF THE CITY OF LA VISTA, NEBRASKA AUTHORIZING THE PURCHASE OF ONE (1) DEEP TINE AERATOR, NEW TERRA SPIKE XP 6 FROM COMMERCIAL TURF & TRACTOR, IN AN AMOUNT NOT TO EXCEED \$26,000.00.

WHEREAS, the City Council of the City of La Vista has determined that the purchase of one (1) Deep Tine Aerator, New Terra Spike XP 6 is necessary; and

WHEREAS, the FY 2012/13 General Fund and Golf Fund Budgets provide funding for this purchase; and

WHEREAS, Subsection (C) (9) of Section 31.23 of the La Vista Municipal code requires that the City Administrator secure council approval prior to authorizing any purchases over \$5,000.

NOW, THEREFORE BE IT RESOLVED, by the Mayor and City Council of La Vista, Nebraska authorizing the purchase of one 1) Deep Tine Aerator, New Terra Spike XP 6, from Commercial Turf & Tractor in an amount not to exceed \$26,000.00

PASSED AND APPROVED THIS 19TH DAY OF MARCH, 2013.

CITY OF LA VISTA

Douglas Kindig, Mayor

ATTEST:

Pamela A. Buethe, CMC
City Clerk

COMMERCIAL TURF & TRACTOR

Date: March 08, 2013

C. T. and T.
PO Box 724
Chillicothe, MO 64601
800.748.7497
Fax 660.646.1005
baconturf@greenhills.net

**City of La Vista
Public Works
Attn: Brian Lukasiewicz
9900 Portal Road
La Vista, NE 68128
(402)657-2789 cell**

Salesperson	P.O.	Shipping Method	Shipping Terms	Delivery Date	Payment Terms	Due Date
Matt Carl		Delivery	Per our truck		Due on receipt	

Qty	Item #	Description	Unit Price	Discount	Line Total
1		New Terra Spike XP 6, 63" w/width, 3 pt. linkage cat 1 & 2, complete w/ front and rear roller, max. w/ depth 16", pto shaft, vibra stop, quick set, & power pack.	\$27,580.00		\$27,580.00
		Includes Delivery & training Operator's manual Parts Manual			
		Municipal Discount			
		Warranty against defects in materials and/or workmanship. This warranty is for 12 months from date of purchase. General wear and tear parts will not be covered under warranty.		-\$3,580.00	-\$3,580.00
		Coring Tines and Solid Tines & Adapter s	\$2000.00		\$2,000.00
		** 15% discount on any future tine purchases. **			
				Subtotal	\$26,000.00
				Sales Tax	Tax exempt
				Total	\$26,000.00

Quotation prepared by: Barbara Applebury for Matt Carl

We reserve the right to make any price adjustments that may have occurred.

QUOTE

Trust your turf to us!

Thank you for your business!



14201 CHALCO VALLEY PARKWAY
OMAHA, NE 68138-6193
(402) 895-8900
FAX (402) 895-8913

3/12/13

LaVista Public Works
Jeff Calentline
8116 Parkview Blvd
LaVista, NE 68128

Jeff

Below, please find pricing on the requested equipment.

Model	Description	Suggested List	National IPA Pricing
09935	Toro ProCore SR 72	\$29,787.00	\$23,293.00
Additional tines & adaptors		\$2,000.00	

Sincerely,
Dan Parr
Commercial Sales

TurfVerks

PARTNERS IN GROWTH

Eagan, MN - Johnston, IA - Sioux Falls, SD - Omaha, NE

Equipment Request

Customer Name	City of LaVista	Date	14-Feb-13
Account Number		Ship Address	
Contact Person	Brian Lukasiewicz/Jeff Calentine	City	LaVista
Phone Number	402-657-2789	State	NE
Mobile Number	402-331-8927	Zip Code	
Fax Number		Email Address	

PO Number X _____ **Salesman Number** X Josh Shull

Salesman Number **X** Josh Shull

Deliver Date **Special Terms**

Special Terms X

Coring Tines and Solid Tines
+ Adapters - see second page

3 2,129,43

Subtotal	\$ 27,904.13
Sales Tax	\$
TOTAL	\$ 27,904.43

Nature

JACOBSEN
A Textron Company

Redexim Verti Drain 7516 tines and accessories

	Part Number	Each	QTY	Total Price	
Solid Tines					
1/2"x12" solid	2381838	\$ 4.15	24	\$ 99.60	*
No Adapter needed					
3/4"x8" solid	311.118.200	\$ 5.80	12	\$ 69.60	*
No Adapter needed					
3/4"x10" solid	2381841	\$ 7.35	12	\$ 88.20	*
No Adapter needed					
3/4"x12" solid (Comes standard on machine)	2382638	\$ 7.35	12	\$ 88.20	
No Adapter needed					
3/16"x5" solid	311.105.125	\$ 0.63	24	\$ 15.12	
Adapter for 3/16"x5"	314.205.043	\$ 6.78	24	\$ 162.72	
5/16"x6" solid	311.108.150	\$ 3.55	24	\$ 85.20	
Adapter for 5/16"x6" using 24 tines	314.208.043	\$ 8.15	24	\$ 195.60	
5/16"x6" solid	311.108.150	\$ 3.55	48	\$ 170.40	
Adapter for 5/16"x6" using 48 tines (Pencil tine kit)	211.751.010	\$ 428.75	1	\$ 428.75	
5/16"x7" solid	9990056	\$ 3.65	24	\$ 87.60	*
Adapter for 5/16"x7" using 24 tines	314.208.043	\$ 8.15	24	\$ 195.60	*
5/16"x7" solid	9990056	\$ 3.65	48	\$ 175.20	
Adapter for 5/16"x7" using 48 tines (Pencil tine kit)	211.751.010	\$ 428.75	1	\$ 428.75	
1/2"x6" solid	311.112.150	\$ 2.21	24	\$ 53.04	
No Adapter needed					
1/2"x8" solid	311.112.200	\$ 2.64	24	\$ 63.36	
No Adapter needed					
Hollow Tines					
3/8"x5" hollow	311.210.127	\$ 8.27	24	\$ 198.48	*
Adapter for 3/8"x5" using 24 tines	314.208.043	\$ 8.15	24	\$ 195.60	*
3/8"x5" hollow	311.210.127	\$ 8.27	48	\$ 396.96	
Adapter for 3/8"x5" using 48 tines (Pencil tine kit)	211.751.010	\$ 428.75	1	\$ 428.75	*
5/8"x6" hollow	999F007	\$ 11.25	24	\$ 270.00	
No Adapter needed					
5/8"x7" hollow	9990022	\$ 11.99	24	\$ 287.76	
No Adapter needed					
Turf hold down kits are recommended when going with at deeper depths, shallow rooted turf, or when coring					
Turf Hold down kit	211.751.008	\$ 766.00	1	\$ 766.00	*
For use with Adapter: 314.205.043 & 314.208.043					
Turf Hold down kit	211.751.006	\$ 766.00	1	\$ 766.00	
For use with Adapter: 2451800					
Other Adapter not listed which is standard on Machine (Would be back up parts)					
	2451800	\$ 10.56			

*Machine comes with front and rear roller, and set of 3/4" x 12" solid tines with adapter (2451800)

* 2,129.43